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501 EAS/A (2)

1.

Simplify : 24 + 4x2+8-4="2

(1 1 2) 7 3) 16 4) 56
. : 1 8 7 7 5.
The difference of the greatest and the smallest of the fractions 5, H, g, 5, g IS :
3 6 7 1
H — 2) — 3) — 4) —
O @ 3 O @ 3

The sum of LCM and HCF of two numbers is 854. If the LCM is 60 times the HCF and one of the numbers

is 70, then the other number is

(1) 160 2) 164 (3) 168 @) 172

The present age of Harish is 8 times the sum of the ages of his two sons at present. After 8 years, his age

will be 2 times the sum of the ages of his two sons. The present age of Harish (in years) is :
(1) 31 2) 32
3) 33 (4) 34

In an examination, it is required to get 300 marks to pass. A student gets 225 marks and is declared fail by

10% marks. What are the maximum marks of the examination ?
(1) 700 (2) 750
(3) 800 (4) 850

In a class of 40 students, ratio of boys and girls is 3 : 2 and the average marks scored by boys is 42 and that

by girls is 46. Then the average marks scored by the whole class is :
(1) 434 (2) 43.6
(3) 438 4) 44

The sum of three numbers is 136. If the ratio between the first number and the second number is 2 : 3 and
that between the second and the third number is 5 : 3, then the first number is :

(1) 42 (2) 40
(3) 36 4) 32
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1.

AT P24 + 4x2+8-4=7

1 1 Q) 7 (3) 16 @) 56
%, % % g % AT fo0q® AL SIS SalIee oMy 20 -

3 6 7 1
(1) 3 (2) 7 3) 5 4) 3

whT 2AIF LCM  (FPI%) S HCF (FPG)F (oI (3R 854 | I LCM § NI, HCF.- 60 %1 3% Y.
951 LT 70 2T, (O SCBT AL 2 e -

(1) 160 2) 164 (3) 168 @) 172

B TEIH T (9G] U2 Sq9 T (TFeolS 8 @l (MR 8 299 7o (999 RPT (989 13 7aq
TP (AP G D) 2 TET 39 (I299) (207

(1) 31 @) 32

3) 33 4) 34

SIS TGIf 20T 300 V=T TS FIICHT ST TG A 225 T 311 FCI Y (SEF 10 *OIH
IO [RPeT (RI]T fET Carelt 4t 22 21w A = e

(1) 700 (2) 750

(3) 800 (4) 850

40 TR RG-ZIA] 5T (A ST S (R SAS 3 : 2, WY FIMD CART 9 99 42 S (TRACT
CIRIT 51 =T 46, CONO (AMTES (KACBICI =TS F[ AT 99 2e18

(1) 434 (2) 43.6
(3) 43.8 (4) 44

BT 1229 (A1 29T 136 | WM 2= 72T @Y TSR ALYF S AT 2 : 3 Y S Y Sy
SRAT WG SANS 5 - 3 2, (ST A=A AICGT 238

(1) 42 (2) 40

3) 36 @) 32
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10.

11.

12.

13.

14.

15.

An item is sold for ¥ 504 after allowing 20% discount and still a profit of 5% has been earned. The marked
price is how much more than the cost price ?

(1) T120 (2) 135
(3) %150 (4) T160

A certain sum becomes ¥ 2,356 in 3 years and ¥ 2,660 in 5 years on simple interest. The value of sum is :

(1) 1,800 (2) %1,880 (3) %1,900 (4) 1,980

In a square, lengths of the diagonals are (4k + 6) cm and (7k — 3) cm. The area of the square (in crnz) is:

(1) 144 (2) 162 3) 169 4 172
The volume of a cylinder having base radius 3 cm is 396 cm?. Find its curved surface area (in cm?).
22
Usen= —
( )
(1) 280 (2) 3015 (3) 2064 (4) 320.6

A tap can fill a tank in 6 hours. After half the tank is filled, three more similar taps are opened. What is the
total time taken to fill the tank completely ?

(1) 4 hours (2) 5 hours

(3) 3 hours 30 minutes (4) 3 hours 45 minutes

A train running at the speed of 80 km/h crosses a 350 m long tunnel in 36 seconds. The length of the train
(in m) is

(1) 350 (2) 380 (3) 420 (4) 450

If the mean of 3, 4, 9, 2k, 10, 8, 6 and (k + 6) is 8, and mode of 2, 2, 3, 2p, 2p + 1), 4, 4, 5 and 6
(p is a natural number) is 4, then the value of (k — 2p) is :

(1 o 2 1 ) 2 4) 3

In triangle ABC, points D and E are on AB and AC respectively such that DE is parallel to BC. If
AD =6 cm, DB =4 cm, AE =9 cm, then the length of EC (in cm) is

(1) 7 (2) 6.4 3) 6 4) 5.5

SPACE FOR ROUGH WORK
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8.

10.

11.

12.

13.

14.

15.

R CPICAT AN 20 *FST (F213F SRS R P20 504 GFIS KT w1 27 B ©RPHS 5 #1012l e
THG <1 2T | SO BT IR 0L [ (= 2

(1) 12051 2) 13559

(3) 150 BT 4) 160 G

g% Mg Aol 1if*T ST9eT oq SR 3 7O 2,356 5T Y 5 RIS 2,660 5 (2 A HUE
$qIfGT 2ol 25

(1) 1,800 b1 (2) 1,880 b=l (3) 1,900 63! (4) 1,980 G=°1

95T 39fT, TR CAL (4k + 6) om S (7k — 3) cm | I5CER S (cm? ©) 2T
(1) 144 2) 162 (3) 169 @) 172

3 cm TP OIS BT FON SIS 271 396 cm’ | TR IF7[B FIfeT /61 F1 (cm” ©)
(n=%wm

(1) 280 (2) 301.5 (3) 264 (4) 3206

95T (BT 6 9BTO (523 BT ©F13 o719 SAICq1 ST (52 SCIRIN e ®ig fof 5T Sejge (b=t 4ot i 231
CBEfRFCBT PR ©12 130T o A ey 2

(1) 40! 2) 5!

(3) 390130 FIfG (4) 30145 [G

o BT 80 RFCTIRGR (I (T QX (T 36 (RLPLS 350 m WK 57 5T SO IS (TR
ey (o) 247
(1) 350 2) 380 (3) 420 (4) 450

M3, 4,9, 2k, 10,8, 6 S (k + 6) TG 8 T, §Y 2, 2, 3, 2p, (2p + 1), 4, 4, 5 S 6 (p YT TSI A2
(TS M2 4 27, (OCF (k —2p) I 29 :

(1 o 2 1 ) 2 4) 3

f@ge ABC -9, R DS E @ AB W AC- (W & TS DE, BC-I & 27 3
AD =6 cm, DB=4 cm, AE =9 cm 2%, (\9(3 EC—?W(Cm—@ 29

(1) 7 (2) 6.4 3) 6 4) 5.5
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, 4
16. If sinA= 3 then (3 —tan A) (2 +cos A) =

12 13 13
O @ 3 G 7 “4) 3

17. A man can row a boat at 8 km/h in still water. If the speed of the water current is 2 km/h and it takes him

2 hours to row to a place and come back, then how far off (in km) is the place ?
(1) 75 2) 6 3) 95 4 10
18. From the given options, which pass connects Jammu with Srinagar ?

(1) Banihal pass (2) Nathu La pass
(3) Niti pass (4) Rohtang pass

19. Which of the following is not correctly matched regarding Padma Awards-2024 ?
(1) Padma Vibhushan Award — Shri Konidela Chiranjeevi
(2) Padma Shri Award — Mithun Chakraborty
(3) Padma Bhushan Award — M. Fathima Beevi
(4) Padma Bhushan Award — Sitaram Jindal

20. Match List-I with List-II :

List-I List-IT

Person Area of work
(A) Vishakhadatta (D Medicine
(B) Kartikeya Sarabhai (I) Poet
(C) Charaka (II) Environmentalist
(D) Satyendra Nath Bose (IV) Mathematics

Choose the correct answer from the options given below.
(1) (A)- (@, (B) - ), (C) - (IV), (D) - (1)
(2) (A)-(D, (B)- I, (C) - (@), (D) - (IV)
(3) A -dD, (B) - (D, (C) - (1), (D) - AV)
4 A -dID), (B) - (IV), (C) - (1), (D) - (II)

SPACE FOR ROUGH WORK
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16.

17.

18.

19.

20.

4
M sin A = E,C\‘JC@ (3—tan A) (2+cos A)=

12 13 13
O @ 3 G 7 “4) 3

G AT 3 A 9619 § RFCAINGE (357 18 b7 #1131 7 #/1=17 (3ioq 4ifS 961 2 b=t 27
T4 3 (D9F BT 130 (o TOfS Wf2q0eT 2 9BT 7N &1Cal, (313 9133 fFHIT u=g (RFeenfEbiee wiy)
farley ?

(1 75 2) 6 (3) 9.5 4) 10
(FINCDT AR G AIeiRT (0 AL (T 2

(1) 3z fafesi () = fafsie

(3) S ke (4) (o faifes

{5 51-2024 FICF So19 (FINCHT RIS FFeis fe 12 2
(1) o g Bt — & Fifcea Hagar

) @B — FRT Fst

(3) 7 T BT — @ FifoR [iK

(4) 2 G BT —> ST fGraiet

SifeTL] T SIfFFLII I ¢S Tl |

G| S
e Ficwa
(A)  femmrel o e
(B) IIFTpRISI3 am IR
© amy AR
(D) TCOTH AR avy e
et iyl RpspTEe 15w SICh! e 4 -

(1 (A) - D, (B) - (), (C) - (IV), (D) - (IT) (2) (A)- (D), (B) - (), (C) - (D, (D) - (IV)
(3) (A)- (D), (B) - (1), (C) - (M), (D) - (IV) (4) (A)- (D), (B) - (IV), (C) - (D, (D) - (ID)
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21.

22,

23.

24.

25.

The following states were formed after 1960. What was the correct sequence of their formation ?

(A) Haryana (B) Sikkim

(C) Nagaland (D) Goa

Choose the correct answer from the options given below.

() (©), (B), (A), (D) 2) (©), (A, (B), (D)
(3) (©), (D), (A), (B) 4 (D), (O),(A), (B)

Out of the given options, which scheme’s objective is to conduct an annual survey at the gram panchayat

level to monitor the progress in the development process of rural areas ?
(1) Mission Antyodaya (2022-23) (2) Mission Karmayogi (2022-23)
(3) Mission Rashtriya Gokul (2022-23) (4) Mission Atmanirbhar Bharat (2022-23)

Which one of the following countries is not a member of the "Quadrilateral Security Dialogue", also
known as "QUAD" ?

(1) China (2) Japan
(3) India (4) Australia

Who has become the first woman chairperson of the Railway Board of Indian Railways in 2023 ?

(1) Jaya Verma Sinha (2) Mita Vashishth
(3) Ravneet Kaur (4) Vasudha Gupta
Match List-1 with List-II :
List-1 List-11
Country Currency
(A) Myanmar () Ruble
(B) Russia (I) Ngultrum
(C) Malaysia (II) Kyat
(D) Bhutan (IV) Ringgit

Choose the correct answer from the options given below.
(1 A -, B) - (D, (C) - AI), (D) - AV)
(2) A -dID), B) - (D), (C) - AV), (D) - (II)
(3) (A)-aV), B) - D), (C) - (1D, (D) - (1)
(4) (A)-(D), (B) - @, (C) - (IV), (D) - (III)
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21, 1960 5<< AIR® (RIS IepTE 10 F41 (2feet Fietes o10=s A< & & wifee 2

(A) 2RI (B) fefF
(C) AlCeTS (D) CorR
(1) (©), (B), (A), (D) (2) (©),(A), (B), (D)
(3) (O, (D), (A), (B) @) (D), (©), (A), (B)

22, oS RIS fOOTO (SN SbAT Sorely (20 &I SeeTs G i Selaifs fNRrsmey et am
AP (TS 4 AAF G TP 41 2

(1) SIS fI’ (2022-23) (2) FCIAN F=e (2022-23)
(3) G CAIFeT > (2022-23) (4) TS SR =2 (2022-23)
23, OO (VLN (X TQCUAY 5] SCHASH-CAE I 9 423, A "QUAD" 18 &l TR 2
(1) BH Q) wPi
(3) SN (4) g
24, 2023 5N "SIAOR (I TECI" AT AL ST (T (2R ?
(1) ol i et @) ezt
(3) WA (F 4) IRy
25.  IfeRpl1 T OIfeRRL-I1 I (0O TR |
Siferet1 Siferel-IT
o™ Jar
(A) AN o 3@
®) = am &G
(©  eTcafear am &G
D) N avy e
weTs 3 RrgpTaee=[ 3% Seqes! g 41 ;

(1) (A) - ), (B) - (1), (C) - (II), (D) - (IV) (2) (A)- (D), (B) - (@), (C) - (IV), (D) - (1)
(3) (A)-1V), (B) - (D), (C) - (I1D), (D) - (IN) @ A - 1D, B) - D, (C) - (IV), (D) - (II)

SPACE FOR ROUGH WORK




501 EAS/A (10)
26. "Jhulaghat Suspension Bridge" between India and which country has become fully operational now ?
(1) Bhutan (2) Nepal
(3) China (4) Myanmar
27. Due to ocean acidification when the ocean becomes more acidic, what happens to the pH level of the
ocean ?
(1) The pH level goes down.
(2) The pH level stays the same.
(3) The pH level goes up.
(4) The pH level becomes zero.

28.  Who is the first para-athlete to receive the Padma Bhushan award in India ?
(1) Bhavina Patel
(2) Devendra Jhajharia
(3) Avani Lekhara
(4) Mariyappan Thangavelu

29. Zemu Glacier is located in which state of India ?
(1) Uttarakhand (2) Himachal Pradesh
(3) Sikkim (4) Arunachal Pradesh

30. Who among the following is Chile’s first woman President ?
(1) Mary Robinson
(2) Michelle Bachelet
(3) Kim Campbell
(4) Jennifer Shipley

31. Which organisation developed and launched 'Ugram' Indigenous Assault Rifle for the armed forces ?
(1) ISRO (2) BEL
(3) HAL (4) DRDO

32. Which of the following substances is a bad conductor of electricity ?
(1) Diamond (2) Gold (3) Silver (4) Graphite

SPACE FOR ROUGH WORK
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26.

27.

28.

29.

30.

31.

32,

SRS Y (FITL (TR TGS "G ST (g GfSaT F2{efqust 1y (2 oifez 2

(1) ©oW (2) (A

(3) b= (4) RIS

AR TSI FeTo (o 91 SHf SN (7 2I(3, COfS 7991 pH B [ 906 2
(1) pH B M 3| (2) pH BF U3 ATH
(3) pH B I Al (4) pH BI X7 (2 9
SRS ATgFe 57 71 F1 L & (o196 (I 2

(1) SR CoATEe

(2) e AR

(3) SR CeTT

(4) R AT

(] 1T OO (P e SRE® 2

(1) Toae

(2) f2Ioet e

3) e

(4) ST L=l

e e fowge Bier aiHmRPl w2a 1§ (T 2

(1) CI<1 3 ) = B0

3) 5@ (4) Ceirrq =ifer
SIFOR (TR NI T NG WIS R3S S 313 (FI [ie R Tferaiz foet 2
(1) 2 @) R3 @

(3) 930, &, @, @) TS R S o
O (I 2 Rye FAfearal 2

(1) 2 2) oI

3) © 4) CAFI36
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33.  Which of the following disease is caused due to the deficiency of proteins ?
(1) Arthritis (2) Kwashiorkor
(3) Goitre (4) Night Blindness

34. Match List-I with List-II :

List-1 List-II
Navy (Institution) Place
(A) INS Chilka (D  Goa
(B) INS Hansa (I)  Andhra Pradesh
(C) INS Satavahana (III) Kerala
(D) INS Garuda (IV) Odisha

Choose the correct answer from the options given below.
(1) (A)-dID), (B) - (D), (C) - (D), (D) - AV)
2 A)-d,(B)-1AV), (C) - (1), (D) - (I
(3) A)-AV), (B)- D), (C) - (1), (D) - (II)
4 A)-aAV), (B)- D), (C) - (ID), (D) - (1)

35. DRDO has conducted the first successful flight test of Agni-5 missile equipped with MIRV technology.
What is the full form of MIRV ?

(1) Multiple Independently Targetable Re-Entry Vehicle
(2) Mission India Target Re-Entry Vehicle

(3) Multiple Independently Technology Re-Entry Vehicle
(4) Multiple Indirect Targetable Re-Entry vehicle

36. Which Indian has won the "Ramon Magsaysay Award-2023" ?
(1) Korvi Rakshand
(2) Ashwini Kumar
(3) Dipti Ranjan Sahoo
(4) Dr. Ravi Kannan R.

SPACE FOR ROUGH WORK
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33. A=ffe (@H0GT @e 4 ok T e 232

(1) 2T IRT Q) FRIETET
(3) 9IS 4) T3 Gl

34, S 3 SIfEF-11 I ¢S Rt -

Sifeet-1 Sife 11
TN (fed) A
(A) O3 @ @z, & @ I
(B) W3 &, 9%, TR a & AN
(©)  S3 @ @ AR (I e
(D) W3 &=, 9%, 9% avy SR

et Al RFspige<e [ i Te<is! Az 34 -

(1) (A) - ), (B) - (1), (C) - (I1), (D) - (IV)
2) (A)-D,(B)-AV),(C) - D), (D) - (III)
(3) (A)-AV), (B) - (D), (C) - (I1D), (D) - (IN)
(4) (A)-(1V), (B) - (@), (C) - (D), (D) - (IIT)

35. G o9 G or3 @3 o3 ok f© oY@ Aeee Sf-5 CFAeET ANCET STweT GIof A1 77T R0
MIRV 7 9 [ 2
(1) 9IS FOFSII T3] BRI =9 &A= A2
2) e 3l o7y 5= 2t 912
(3) @I FOFSIR 2@ =7 2 2
(4) I 2T TRICIAT =< 2T 12

36.  (IGH SIOITS "IN CICRCT I61-2023" S FRCT 2
(1) IS THW (2) S FAR
(3) Wiy 3G A (4) T IRFEIIRN.
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37. Who has been appointed the Chairman of the 16 Finance Commission of India ?
(1) Ajay Narayan Jha
(2) Smt. Annie George Mathew
(3) Pradip Kumar Mohanty
(4) Dr. Arvind Panagariya

38. Sri Ranganathswamy Temple which is situated in Tamil Nadu, is dedicated to which deity ?
(1) Lord Shiva
(2) Lord Vishnu
(3) Goddess Durga
(4) Goddess Lakshmi

39. The Election Commission of India gets the power to conduct elections from which of the following

articles ?
(1) Article 324 (2) Article 280
(3) Article 264 (4) Article 26

40. Match List-I with List-II :

List-I List-11
Centre of Handicraft State
(A) Mon ) Arunachal Pradesh
(B) Nalbari (I)  Assam
(C) Pasighat (IIl)  Meghalaya
(D) Tura (IV) Nagaland

Choose the correct answer from the options given below.
() (A)-(AV), (B) - (D), (C) - (D, (D) - (III)
2) (A)- (@, (B)- ), (C) - (IV), (D) - (1)
(3) (A)-AV), (B) - (D), (C) - (1), (D) - (II)
@ A -D, B)- 1D, (C) - AV), (D) - (1)
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37.  SIOF (T (16%) K@ SCIER S 2510 T WY 3 tace 2
(1) STera e <
2) AT« &g (AT
(3) SR FAR RS
(4) ©. SRW AR

38, OREHITS SRES & IL9RFE WS (Fe- (reoi] &fo T 2

(1) o= 7 () R e
(3) el (4) CAq TRy
39. SO RIb ST RS (FRCET SRS 2{1 N5 S5e F o] &1 B 2
(1) S0 324
(2) IR 280
(3) IR 264
(4) SIICRA 26
40. SIfePL1 T ORI I CICS TR -
Siferet-1 Siferet-1T
B ™ ey
A) A @ SqeIbeT L=
®) TR an P
© s’ am  CEeT
O BT av) ey

OeT© 1l ReepTReel A< Te<eh! a2 1 :

(1) (A)-(AV), (B) - (ID), (C) - (D), (D) - (1)
(2) (A)- (@, (B)- ), (C) - (IV), (D) - (IN)
() (A)-(1V), (B) - (1), (C) - (D), (D) - (IT)
4) (A)- D, (B)- (D), (C) - (IV), (D) - (IIT)
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41. In which state is ‘*‘Amchang Wildlife Sanctuary’’ loacted ?
(1) Assam (2) Rajasthan
(3) Odisha (4) Manipur

42. India’s first 3D-printed Post Office has been inaugurated in :
(1) Guwahati (2) Kolkata
(3) Mumbai (4) Bengaluru

43. What should come in the place of the question mark (?) in the following alphanumeric series ?

A1X, B4P, E25J, J100F, ?
(1) 0289D (2) 0225E
(3) Q289D (4) Q225E

44. In the given analogy, choose the word which will replace the question mark :
NEGI : MVTR :: SING : ?
(1) TRNS (2) TRNT
(3) FRMT (4) HRMT

45. In a certain code language ‘ki ru pi’ means ‘nobody like cruel’, ‘ki mi cha’ means ‘king was cruel’ and

‘ru pi cha’ means ‘nobody like king’. What is the code for ‘was’ in the given code language ?
(1 ki (2) mi
(3) cha (4) ru

46. Read the following information carefully to choose the best option for the question :
‘P % Q’ means that ‘P is the sister of Q’
‘P + Q’ means that ‘P is the son of Q’
‘P x Q’ means that ‘P is the husband of Q’
‘P — Q’ means that ‘P is the brother of Q’
Which of the following means ‘A is the son-in-law of G’ ?
(1) AxU+SxG 2) A+S%UxG
3) A-S+UxG 4 AxU%S+G

SPACE FOR ROUGH WORK
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41. (I TS "G IVAN STSTRAT R 2

(1) P (2) ez

3) SR (4) o
42. ©FoF AANCHT -T-THT TREq SrgiK= F4T (023

(1) @RS Q) FAPTOS

(3) RO (4) QRO

43, 9T YRR WO 2o (2) T 912 6 oifeq #1ieai 2
Al1X, B4P, E25J, J100F, ?
(1) 0289D (2) 0225E
(3) Q289D (4) Q225E

44. NG TAMGTS o oz 13w RCG *=7 ofex (T0h! 1R 78 -
NEGI : MVTR :: SING : ?
(1) TRNS (2) TRNT
(3) FRMT (4) HRMT

45. QBT (1T SIS ki ru pi' N "nobody like cruel, 'ki mi cha' JIC 'king was cruel' 1 'tu pi cha' N
'nobody like king'l 2714 I (I SIS 'was' I (PGB 6 2
1) ki 2) mi
(3) cha (4) ru

46. NG I KA [y AR PRIACH ©eTq SATCIR FARHIC 253 |
P%Q ITZ'T PTFQISAN
P+Q INAQ'TPRTQI A
PxQ ITALTP TTQ I
P-QITITT PRFEQI Y

S (PR o1 20T A (307 G-F (SR 2
(1) AxU+SxG (2) A+S%UxG
(3) A-S+UxG 4) AxU%S+G
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47.

48.

49.

50.

51.

1f 26 J anuary, 2020 was a Sunday, then what day of the week was it on 16™ March of that year ?
(1) Sunday (2) Monday
(3) Tuesday (4) Wednesday

What will be the measurement of the angle made by the hour and minute hands of a clock when the time is
‘quarter past 3’ ?

(1) 6% (2) 10°
1° 1°
(3) 75 4) 85

If in a certain code laguage, ‘MERCURY’ is coded as ‘NGUGZXEF’, then how will ‘ENTANGLE’ be

coded in the same code language ?
(1) FPXFSMSM (2) FPWESMSM
(3) FPWESNSN (4) FPWFTNSM

The problem given below consists of a question and two statements numbered I and II. You have to decide
whether the data provided in the statements are sufficient to answer the question.

How many sisters does Sunny have ?

I.  Sunny is the only son of his parents.

II.  Sunny’s parents have three children.

(1) Only statement I alone is sufficient to answer the question.

(2) Only statement II alone is sufficient to answer the question.

(3) Statements I and II together are sufficient to answer the question.

(4) Either statement I or II alone is sufficient to answer the question.

A boy leaves his house. He travels 6 km towards South, then travels 8 km towards West and further travels

9 km towards South. How far and in which direction is he from his house now ?
(1) 13 km, South West

(2) 17 km, South West

(3) 17 km, North West

(4) 13 km, West

SPACE FOR ROUGH WORK
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47.

48.

49.

50.

51.

W 26 QIR 2020 (TSI SR, (SCF (312 7299 16 N5 ASIRCGN (FCGT = Sifget 2
(1) MeIN] (2) CMRF
(3) WM&l (4) RS

951 IR 51 S{ FfGT FIBICT CoTR 1 (I 2R T3 29 (IO 70 3:15 2] ('3 217 (2 & b9
9)?

[o}

1 o)
(1) 65 (2) 10

[o} o

3) 7+ 4) 8+
2 2

I @51 fA8 $T S MERCURY & ¥'C 341 27 'NGUGZXF', (9(8 A(Fb] ¥ SIS 'ENTANGLE'
(FET ITIFITI?

(1) FPXFSMSM (2) FPWESMSM
(3) FPWESNSN (4) FPWFTNSM

OeTS Al ePIChTS BT o O b1 30 1 0 11 fran t2em) Sisif Frarg @ aiifa (1 Rforae gaiw w<i
O 2T S@< MCeT 2R 23 (F 723

QI fEAeT- S SR 2

| A=Y RACICE AT ol [T RUE

I RS Pre-ares fofGT Twiv ity

(1) 51 RO 1 (BIR bR Tes et AT 23|

() e RO 11 (BICa3 4ITB1R Tes ateT 7iid 23|

(3) ZNCHR Tas et R 1 ®1 11 aepeteal s 231

(4) B Teq et (e [0 1 3111 #fffe 23l

G & "3 e TR ST G113 T.(9E A FIE 6 [FERGR 9 F01, OF Piee AResq T
8 (TG Al ST S wfERe P10 9 RFCRGR T FCe, (9] <19 7] @it f[Fae 79 ©ig (F
s @iy 2

(1) 13 [FCGIR, e 2o 2) 17 ARG, 7fwe sAf#p

(3) 17 EGR, T 4) 13 RCAIRGR, Ao
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52. Find out which of the answer figures completes the figure matrix :

Problem figure :

(1)

99!

X1

X3

19

X

2)

3)

4)

o

53. A clock seen through a mirror shows ‘quarter to seven’. What is the correct time shown by the clock ?

(1) 615 2) 6:17 (3) 5:17 4) 5:15

54. The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown

in the following figures. How would this paper look when unfolded ?

// ’ &
'\N 25 <
o000 o 0o o 0O o ©
M |o 0 2 |loe Qo (3) O @ loQo
0 00 0 0O o 0O o ©

SPACE FOR ROUGH WORK
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52.  (QICOT TG MR APS (G 71 o< vl Tlemres

STPATIS >1RAT

(21)

199!

9

19

19

XX

(1)

53. I3 QA0S (M2 BT IO 6:45 (AT W TOICHICI (WY& o 7 [y 2

(1) 6:15

54, O PG [P OG T FF S ©fer F91 FIIGCIR FOF 270 Wero AN AAICITO (TSI (2R

2)

2) 6:

17

YT 3 PIAMere (PP (72 T 2

3)

(3) 5:17

7’

7’
7’
C

7
4
N

(1

000
o ©
Q00

2)

000
oQO
000

3)

o ©
oo

o

o

4)

4) 5:15

4)

o

O00

000
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55. Find out the missing (?) number and letter.

C &

80 31

G I

(1) 59andK
(2) 6landL
(3) 6landK
(4) 59andL

56. What will be the next number of the series
3,6,10.5,17,26,?
(1) 31
(2) 38
(3) 40
4 41

57. In a class of 40 students, Anjali’s rank is thrice that of Anita. There are 4 students who have ranks worse

than that of Anjali. Anita’s rank in the class is :
(1) gth

(2) 10th

(3) 18th

(4) 12t

58. Six people E, H, K, M, S and U are seated in a circle facing the centre. U and H are immediate neighbours
of M. E is the only person sitting between K and S. H is to the immediate right of S. Who is to the
immediate right of U ?

(h M (2) E G K “4) S

SPACE FOR ROUGH WORK
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55. (23990 (?) 221 S SRR R Sferzres

C &

80 31

G |
(1) 59 ®IK
2) 61%{L
(3) 61 T[{K
(4) 59%{L

56. RRIRFT S ML fFAT 27
3,6,10.5, 17,26, ?
(1) 31
) 38
(3) 40
@) 41
57. 40 9P RQ-ZIAR W51 (IO TG ([T H(WOIF (LF0CF [oi~ee! (I TGN Qoo (F3 (325 A1 4
T RI9-Zfa SR (KNG SfNoR (325 202

(1) o9t ) 10t
(3) 18t (4) 12th

58. RIG (IIF E, H, K, M, S ®§ U (TS FICT ¥ I 7 957 J8© 92 2 U S H (202 M-T 859
P3N E T2 K O S § oo 32 A9 43919 e H 2791 S-3 B9 Gieiest u-1 B GiieleeTt (i
R ?

() M (2 E 3 K 4 S
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59. Find out which of the answer figures from the options can be formed using all the pieces given in the

problem figure.

Problem figure

QO

=

\v4

= =
(1) @/\® ) O\Y,O
3) @\\_/,@ @) C?\L@

60. Read the given statements and conclusions carefully assuming that the information given in the statements
is true, even if it appears to be at variance with commonly known facts. Decide which of the given

conclusion(s) logically follows from the statements.
Statements :

No keyboard is a mouse.

All mouses are computers.

All computers are laptops.

Conclusions :
I.  All mouses are laptops.

II.  All computers can never be keyboards.

(1) Only conclusion I follows

(2) Only conclusion II follows

(3) Neither conclusion I nor II follows
(4) Both conclusions I and II follow

SPACE FOR ROUGH WORK
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59. TP AL M G 211 RPFCIRI (PG T8IF 71 910w I #11f7 [ReiR Tleries

ST 7L
Q O
S
A4
= T2
(1) @/\® ) O\V/O
=% —
3) @\!@ @ | @

60. 2N 91 RIOCIIT O THPIRINCHT I #p< | RO o w=iear vt et 4f e, afre 3
ANRIS W ©AF TS foq (R A W, Brag e (7 ROERT AT (PIDT
TR Y@NRANOSIF TP FCF 2
(I PG BT ER 127 |
A TSh FTHF |
NP FPATHE CRCT (19157
G2/ -

I RRCeN MR (R (1957

I. A ICER (PO G 27 (AR
(1) (T 1 SRR SPIe AT

(2) (A 11 SN SPiRel 41 2

(3) (I TR O 1T SRl

(4) THPILRN S 11 IRIB12 SPiRe S
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